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(A) B »E(HE) | 5% (FH5)
- S I G I Blx | 8| |8 | x| 8| "B |k |®RE B K[BE B | K
R AN 56 4 | 24,277 12,326 11,951 11,372 11,371 342 189 566 339 46 52 64 92 7 17 937 92.3 95.1 4.5 52 3.7
57 | 21,171 10,894 10,277 9,944 9630 344 250 552 330 54 58 116 91 11 15 92.5 91.3 93.7 53 6.2 4.2
58 26,969 13,875 13,094 12,523 12,247 483 362 791 410 78 75 109 105 6 22 91.8 90.3 93.5 5.4 6.5 4.1
59 27,012 13,762 13,250 12,518 12,450 425 308 747 403 72 89 131 117 6 10 924 91.0 %4.0 52 6.4 4.0
60 |27,231 13,977 13,254 12,750 12,519 415 299 728 367 84 69 141 99 8 19 9.8 91.2 9.5 50 63 3.7
61 |27,566 14,185 13,381 12,983 12,655 450 310 682 350 70 66 147 &7 2 6 93.0 91.5 94.6 4.6 59 3.3
62 29,430 14,982 14,448 13,614 13,630 549 401 712 344 107 73 169 9 5 9 926 9.9 9.3 45 59 131

3 3
# bl 173 87 86 87 8§ - 1 - - - - - - - — 99.4100.0 9.8 — - -
& H| 173 87 86 87 &% - 1 - - - - - - - - 941000 %8 - - -

/N I
# % 28,600 14,539 14,061 13,173 13,244 549 400 710 344 107 73 163 99 5 9 924 90.6 %4.2 47 61 3.2
) (19,280 9,791 9,489 8,811 8,892 410 306 4% 239 7B 52 1277 72 3 5 9.8 90.0 93.7 49 6.4 3.3
bl | 9,320 4,748 4,572 4,362 4,352 139 94 25 105 32 2 2 27 2 4 935 9.6 %.2 7.1 7.4 30
# W 2178 1,114 1064 966 983 69 47 67 28 12 6 2 1 1 — 8.5 8.7 924 45 6.3 2.7
MAfT | 4,667 2,378 2,289 2124 2121 104 74 134 77 16 17 4 15— — 91.0 893 927 58 7.5 4.0
#BW| 1711 %05 86 838 8% 3B 18 2 8 5 5 6 5 - 1 9.5 926 9.4 25 3.3 16
w1713 8N 842 803 793 21 14 42 03 5 2 23 14— - 932 %2 9.2 65 75 586
Z & | 1644 840 84 770 76 3B 29 28 16 7 311 8 — — 928 91.7 940 3.8 4.6 3.0
o) 856 455 401 419 388 14 2 15 10 7 1 4 1 — - 943 9.1 9%.8 35 4.2 27
LHE | 2829 1421 1408 1257 1,322 M 59 87 23 3 4 13 9 - 1 91.2 8.5 93.9 4.7 7.0 2.3
LTl 1,087 537 550 48 504 24 25 2 18 6 3 3 4 2 1 91.1 90.5 91.6 4.5 4.8 4.2
R E 517 259 258 238 247 1 2 15 6 5 3 1 2 - 2 938 91.9 957 5.0 6.2 3.9
&l 542 214 268 241 249 5 13 2% 6 2 - 8 1 - — 904 8.0 929 76 124 26
B | 432 216 216 198 202 8 8 7 4 3 210 9 — — 926 9.7 935 6.9 7.9 6.0
wEE W 395 197 198 181 186 1 5 13 5 2 2 1 3 — — 929 919 9.9 56 7.1 4.0
AR 649 324 325 290 306 16 10 16 5 2 4 1 - — — 918 895 %.2 34 52 1.5
2 28 553 280 273 254 263 12 8 13 2 1 - 6 3 - 1 935 90.7 %.3 45 6.8 22
% g0 212 11 101 101 100 3 1 7 - - = 1 2 — — 948 91.0 99.0 4.7 7.2 2.0
kBN 227 119 108 109 101 5 5 4 2 1 - 5 - - 1 925 916 93.5 53 7.6 2.8
AT 114 50 64 44 62 4 2 A 1 — — 93.0 8.0 9%.9 26 4.0 1.6
8 # B\ 1,07 545 526 503 49 24 20 14 9 4 1 5 3 1 1 93.3 923 %43 31 37 25
b 226 118 108 104 107 9 1 4 - 1 - - 1 — — 934 8.1 99.1 22 34 09
B A 123 57 66 51 57 § 9 - - - = = 2 1 1 8.8 8.5 864 3.3 1.8 4.5
] 212 108 104 104 94 1 4 1 6 2 - 2 — — — 934 9.3 %04 42 28 58
-l ] 396 27 189 192 181 5 6 9 1 1 1 3~  —  — 942 928 9.8 33 58 05
R 114 55 59 52 57 3 - = 2 - - - - - - %56 95 9%6 1.8 — 34
Z E B| 1,04 554 550 524 528 14 13 15 9 1 - 13 5 - — 9.3 9.6 9%.0 38 51 25
7 E 607 298 309 281 207 6 8 10 4 1 - 7 2 —  — 9.2 9.3 9%.1 38 57 19
] 188 96 92 93 88 2 1 1 3 - - 2 2 —  — 9.3 9.9 95.7 4.3 31 54
G ] - - - - - - - - - - - - - - - - - - = = =
Jl & AT | 309 160 149 150 143 6 4 4 2 - - 4 1 — - 9.8 938 9%0 36 50 20
$ERB 125 68 57 64 5 - 4 2 1 2 - - - - - 928 941 91.2 24 29 1.8
BT 125 68 57 64 52— 4 2 1 2 - - - — - 928 91 91.2 24 29 18
2 E B 667 347 320 321 30 12 4 N 5 3 1 2 1 - — 9.6 925 9%.9 28 37 19
W = BT 322 165 157 152 151 5 3 6 2 2 1 - 1 - - 941 9.1 9.2 28 3.6 19
3 T 130 68 62 68 2 - - - - - = — = = =100010001000 - - =
8 58 33 25 28 2 3 - 2 1 - - - - = — 8.7 8.8 9.0 52 61 4.0
7 i Ay 157 81 76 73 73 4 1 3 2 1 - 2 — — — 930 9.1 9.1 45 6.2 2.6

— 274



£ ST S (A 5

O K R -

RES. 18
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(A) B L% (FH8) | A% ()
® Bl B E's Ll S Bl |9 x |8 x| B | x| B | k|88 B |8 B
— % | 1,149 603 58 51 58 18 6 30 1 4 3 1 = = = 9.7 9.4 %3 37 51 20
& RAMET 85 44 41 39 39 3 - 2 1 - 1 - - = — 91.8 886 9.1 35 45 24
— &0 238 127 111 15 108 8 3 4 - - - - = 9.7 %6 97.3 1.7 31 —
A il BT 210 118 92 109 88 2 1 7 3 - - - = - — 938 924 9.7 48 59 3.3
& % my 276 142 134 130 129 4 2 5 3 3 — - - = — 938 91.5 9.3 29 35 22
(8K 145 72 73 64 72 - - 8 - - 1 - - - - 038 8.9 986 55 11.1 -
ZEW 187 100 87 94 82 1 - 4 4 1 1 1 —  —  — 941 9%4.0 943 48 50 4.6
B oE B 207 113 94 109 83 - 2 4 8§ - 1 - - = - 928 %5 8.3 58 35 B85
i T 95 51 44 48 @2 - 1 3 1 - - - - - = 947 941 95 42 59 2.3
s 112 62 50 61 a4 - 1 1 7 - 1 - = = — 911 9.4 8.0 7.1 1.6 14.0
% K B 720 337 43 8 35 18 10 17 7 4 | 2 2 —  — 91 8.7 9%8 39 50 26
%AW 190 8 105 7 98 33 4 3 1 1 1 - - = 921 96 9.3 4.2 59 29
MMl 36 174 142 147 133 15 6 9 33 - - 1 - — 8.6 8.5 9.7 41 52 2.8
K& W 96 50 46 48 4 - 1 2 1 - - - - = — 958 9.0 9.7 3.1 4.0 2.2
B 60 35 25 34 % - - 1 - - = 1 - - - 9.3 97.1100.0 33 57 -
N 58 33 2% 32 % - - 1T - - = = 1 —  — 9.3 97.0100.0 3.4 3.0 4.0
E £ 3| 1,41 701 710 649 63 9 9 38 17 5 1 n 2 — = 944 926 9%.2 48 7.0 27
BNl 176 92 84 86 83 1 - 4 1 1 - — — . — 9%.0 95 98.8 28 43 1.2
ZRW 160 74 86 73 8 - 2 1 1 - 6 - = - 975 986 9.5 50 95 1.2
N ET| 264 125 139 121 132 - 4 22 2 1 4 1 - - 958 9%.8 950 34 48 22
N 189 99 90 95 85 3 2 1 3 - - 1 - = = 952 %0 %4 26 -20 3.3
R 161 74 87 58 83 29— 12 4 2 - - = = - 8.6 784 9%.4 99 162 46
Ken 93 48 45 46 44 1 - 1 1 - - - 1 - - 9%.8 9.8 97.8 3.2 2.1 44
EoR ] 73 39 34 33 ¥ - - 6 - - - - - = — 918 8.6 1000 8.2 154 -
N 132 67 65 56 62 1 1 10 2 - - - = = - 84 856 954 9.1 149 3.1
KAWL 23 13 10 13 0 - - - - - - - - —100.0 100.0 1000 - - -
) 140 70 70 68 67 1 - i 3 — - = = = = %4 9.1 9.7 29 1.4 4.3
Mo 372 186 186 173 180 5 6 6 - z2 - - 2 — - 99 9.0 %8 22 32 11
"B A 147 72 75 64 74 3 1 3 - 2 - — — — - 939 8.9 9.7 20 42 -
B BF 43 27 16 27 | - - —100.0 100.0 100.0 - - -
far 1y BT 101 48 53 . 47 50 - 3 1 - - = 1 - = 9%.0 979 9%4.3 2.0 2.1 1.9
Kl mF 81 39 42 35 40 2 2 2 - - = = 1 — - 926 8.7 95.2 3.7 51 24
2 BB 121 61 60 53 57 5 1 3 2 - - = = = - 99 8.9 %0 41 49 3.3
TN 121 61 60 53 57 5 1 3 2 - - - = = - 9.9 8.9 9.0 4.1 49 3.3
B OB | 1,024 496 528 439 489 19 0 ¥ 20 4 9 2 5 1 2 %.6 8.5 926 6.3 75 5.1
i B Wy 119 58 61 50 58 2 2 6 - - 1 1 - - 9.8 8.2 9.1 7.6 12.1 3.3
K T 0 149 72 77 65 72 3 1 44 - - = 2 1 — 91.9 90.3 935 7.4 6.9 7.8
& OB AT 261 135 126 124 115 1 2 10 8§ - 1 1 —  — 916 91.9 91.3 7.3 7.4 7.1
[ 13 HT 339 158 181 139 166 10 5 & 5 1 I 2 90.0 8.0 91.7 4.4 51 3.9
WA 156 73 83 61 78 3 - 6 2 3 3 1 1 — - 8.1 836 9.0 64 96 3.6
Lt e 448 28 20 202 26 2 -— 2 10 2 & - 2 — - 9.1 8.6 93.6 7.6 9.6 55
REREN 216 102 114 86 107 1 - 13 3 2 q 2 s — 89.4 84.3 939 8.3 12.7 4.4
T 232 126 106 116 99 1 - 9 7 - = - = = - 927 91 94 69 7.1 6.6
BEER 3% 189 167 182 162 | 1 6 4 — - = 2 = - 9%6 %3 9.0 34 3.2 36
3 W 135 78 57 7 5 - - 2 3 - - 1 — 96.3 97.4 947 4.4 26 7.0
wOE 33 12 21 12 20 - - 1 - - = - = = 9701000 9%.2 3.0 — 438
& 17 3l 1 17 14 A 1 — - 100.0 100.0 100.0 3.2 -— 59
oA 157 85 72 80 71 1 1 4 - - - - - - = 9.2 %1 %86 25 47 -

E7N ir
8 B| 67 3 301 B m - - 2 - - = = = = — 97 94100 03 06 -—
H B 66 314 22 33 292 - - 1 - - - - = = - 9.8 971000 02 03 -
i E: 51 4 9 4 9 - - 1 - - - - - - — 90 9.6100.0 20 24 ~—
E S ] 264 98 166 9% 16 - - - - - - - = = —100.6100.0 1000 - - -
PYH T 27 137 80 136 g - - 1 - - - - - = - 95 9.3100.0 05 07 -
3 i 35 17 18 17 B - - - - - - - — = -100.0 10001000 - - -
LA} 90 62 28 62 % - - - - - - = - = =100.0100.0 100 - - -
- % 51 42 9 4 9 - - 1l - - - - = —= - %0 9.61000 20 24 -
[l A7 51 42 9 41 5 - - 1 - - - = = = - %0 961000 20 24 -
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